Inverse Proportion
“The light that burns twice as bright burns half as long — and you have burned so very, very
brightly, Roy.”

BLADE RUNNER

Two quantities are in inverse proportion if, when one quantity gets multiplied by any factor,
then the other quantity gets divided by the same factor. For example if one quantity is doubled
then the other quantity is halved. We say that y %

Questions

1. The variables  and y vary in inverse proportion. Copy and complete the following table.

T 8 | 24 11
40 260

2. The variables x and y vary in inverse proportion. Copy and complete the following table.

x| 5 ]625 = | &2
y || 16 %

300, &, 2800, &

3. The variables x and y vary in inverse proportion. Copy and complete the following table.

T 22 198
7 91 1001
18 99

Y1 33 455

10,9,11

4. The variables x and y vary in inverse proportion. Copy and complete the following table.

T T 68
19 7429
12 20 28
Y1l 23| 873 1321
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6. A and B are positive. A is inversely proportional to B. When A = 48, B = 147. Find
the value of A when A = B. A =84

7. The variables « and y vary in inverse proportion. Copy and complete the following table.

1 b
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8. The variables x and y vary in inverse proportion. Copy and complete the following table
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Pg”, s T »2

9. The variables p and ¢ vary in inverse proportion. Copy and complete the following table.

plla®>—1] (z+1)
q| z+1 z(z +1)*

T’;l,zfl

10. The variables M and t vary in inverse proportion. Copy and complete the following table.

z%y
2

~
gl 8

fe 18

M)

Y 2

B3
Tz

11. The variables x and y vary in inverse proportion. Copy and complete the following table.

2
T n n“4n

3 2
; Smrd 10n° 4+ 10n
y || dn° +5n | 5n

n(n+1),10n(n +2), 1

12. The variables x and y vary in inverse proportion. Copy and complete the following table.

T T 3r+6
y || 4r+8 1202 + 24

r(r+2)
3(r242)

13. The variables v and w vary in inverse proportion. Copy and complete the following table.

vl x—y | 2®—y?| Tqx’ — Tqy’x
w 7q

749 1
(== =)

14. The variables p and ¢ vary in inverse proportion. Copy and complete the following table.

P 3nx

3 92 (5x2+1)
q || ome+ 5 | =5 g

15. The variables L and M vary in inverse proportion. Copy and complete the following table.
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22.

L |oy—2a]|y*—1
M| y+1

The variables  and y vary in inverse proportion. Copy and complete the following table.

[SI[e¢)

T n n3 | 3n

y || 3n?

N1

3,n

The variables z and y vary in inverse proportion. Copy and complete the following table.

2a a=b [ _2_
b
y |l be|bt+e| 2 ) e

- 2
Lb‘f: , 262, 7233(;7 ,abe(a + b+ c)

The variables z and y vary in inverse proportion. Copy and complete the following table.

n2+n
m

m
ntl nm

2
n(n+1), L, m%

The variables P and @ vary in inverse proportion. Copy and complete the following table.

Pz % 22y + 2xy Ty

Qlly|2r+4 73

Je(z +2), 242, 1o

xy
2(z+2) 742

The variables r and s vary in inverse proportion. Copy and complete the following table.

r| 22y —4r—-3y+6 | Ty—14
14z — 21

The variables z and y vary in inverse proportion. Copy and complete the following table.

x || 72— 36
y 12 127 4+ 72

™ —06

The variables z and y vary in inverse proportion. Copy and complete the following table.

z || Va | b?
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23. The variables  and y vary in inverse proportion. Copy and complete the following table.

z || (ya)? | b2

24. The variables P and @) vary in inverse proportion. Copy and complete the following table.

Pl 3x+9|522+16x+3
Q| br+1

25. The variables z and y vary in inverse proportion. Copy and complete the following table.

zllr—r|r2-1

Y r—1

r(r—1)
1

26. The variables p and g vary in inverse proportion. Copy and complete the following table.

VT 4622 + 9T

q 2> 2

27. The variables  and y vary in inverse proportion. Copy and complete the following table.

x a® — b2

2a2 + 4ab + 2b*
y [ (a—0b)"!

(a+0b)!

(@ +5% 3rs

28. The variables p and g vary in inverse proportion. Copy and complete the following table

p 2+ | 2b—a2?
gl 2?2 -1

zt — 1, l
29. The variables  and y vary in inverse proportion. Copy and complete the following table.

x || r2 | rt =2

Y r?+1
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